Ostwaldcolours (o) Yy=100

Mr%hromaticity (x,y)

CIE 1931

max (m) chromatic value, CO0

0.0 200755
0,0 0,2 0,4 0,6 0,8

Name and spectral range

Rm 561_770 ¥, 520_770

G 475_573 G, 380_561
MRa, 380_520 M, 573 475

1,0

CE741-1A 1




X,=99,99,Y,,100,007,~99,99 B*,

xW—O 3333y,,=0,3333 E

o=(80[30,n+a0,+a0,a]) Y16(Y/ Y19 113
B g (0o~ [Bo,+Do.y+0o,A]) Y1g(Y/Y191/3
ag = apo [X/y] 4

bo = b0 2% 897351
a,0= 1, byo=-0,4 6
A*,

t t t >
n = Co00 -40 40
ag y=ay(Y/Y1g-1) 33
bo,y=bay(Y/Y1-1) 43|
2,,=0,000,,,=0,000
a,4=0,000,by 4=0,000 2

Ostwaldcolours (0) Yj,=100

max (m) chromatic value, COO T-40

chroma (A*g, B*q)
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Xw=99,99 Y,,=100,002,=99,99 B*
%,=0,3333Y,,=0,3333

A*1=(@g-[ay rtay y+ay A YieY/Y19) 13
B*1=(by—[by *by y by A Yae(Y/Y19) /3
8y =ay[(x-0,17Dh]

by =y [2/Y]

A= 1, by = ~0,4
mMr1=1,000,b5;=0,171 ,
n = Co0 —40 ' 40
a1 y=ay(Y/Y1g-1)

33
by y=boy(Y/Y14-1)
a,y=0,000,5,y=0,000
ay 4=0,000,b; 4=0,000 2
Ostwaldcolours (0) Yj,=100
max (m) chromatic value, COO -4

chroma (A*;, B¥;)
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X,=99,99,Y,,100,007,~99,99 B*,,
%w=0,3333y,,=0,3333

4
A 2=(ax~[8y rtap ytay, A])YJ.S(Y/YIB)US

B*2=(0y-[bz it Dy *Dp A Yae(Y/ Y19 13
8y =2y [(x-0,17Dh] i
b,=ba0 [(Mp1x+bp1)/Y]
ax=1, byo= 04 8973

mp=-0,107,0p,=0,39  EEOre
q

n=C00 _40
8 y=agy(Y/Y1g~1) &
by y=boy(Y/Y1g-1)
2y3y=0,000,b,y=0,000

a, A=0,000,b, ,=0,000
Ostwaldcolours (0) Yj,=100
max (m) chromatic value, CO0

chroma (A*,, B*,)
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X=99,99,Y,,=100,007,=99,99 B*
%,=0,3333y,,=0,3333
A*5=(ag-[ag rtag v+ Al Y1e(Y/Y19) /3
B*3=(Dg[b3 *b3 b3 A Yae(Y/Y19) /3
ag =ay [(x-0,17D/y]

b3=ba [(Mp1x+bp1)/y]

ax0=1, byy=-04
Mp1=-0,730,b;=0,576 \
n = Co0 —40 ' 33 40
ag y=ay(Y/Y1g-1)

b y=boy(Y/Y14-1)
a,y=0,000,b,y=0,000

a5 4=0,000,b3 4=0,000
Ostwaldcolours (0) Yj,=100
max (m) chromatic value, COO -40
chroma (A*3, B*3)
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X,=99,99Y,,~100,00Z,~99.99 B*,
xW—O 3333y,,=0,3333
=(ag~[a 8 yrag ) Vi YY1 L3
4—(b4 [4,+ba y+by, ) Yae(YIY19 13
8y = a0 [(x-0,1791y] 4
b=ba0 [(Mp1x+bp1)/Y]

a50= 1, byo= -0,4 8035,
Mp;=-0,107,b;=0,369 . €55 L\

T40

n=C00 _40
ag y=ay(Y/Y1g-1) A
by y=boy (Y/Y1-1) 2

a,y=0,000,b,,=0,000

ay 4=0,000,b, =0,000
Ostwaldcolours (0) Yj,=100
max (m) chromatic value, CO0

chroma (A* 4, B*4)
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X,=99,99,Y,,100,007,~99,99 B*,
xW—O 3333y,,=0,3333

T4
5=(a5~[85,* 35 v+ ) Yae(Y/Y19)1/3

5—(b5 [s,1+Dsy+bs, Al Y1g(Y/Y19)1/3
as=ap,{(+8,61x~7,19-0,26)4] .
b5=b2x[(+1,99<+3:3Q/‘2~40)5’]
=0,10,b,,= 0,10
)\B 6.vR=475,503,574.494c En

8FB5

A*g

n=C00 _40

a5 y=agy(Y/Y1g~1) 4
bs y=boy(Y/Y1g-1)
2yy=0,000,b,y=0,000

a5 4=0,000,b5 4=0,000
Ostwaldcolours (0) Yj,=100

max (m) chromatic value, CO0

T

chroma (A*s, B*5)
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X,=99,99,Y,,100,007,~99,99 B*,

xW—O 3333y,,=0,3333

g = ago [x/Y]

be=ba [(Mp1x+bp1)/y]

ay =1, byp=-0,4
mpy=-0,730b,=0576

n=C00 -40

g y=agy(Y/Y1g~1)

be y=boy(Y/Y1g-1)
2,y=0,000,b,y=0,000

a A=0,000,b5 4=0,000
Ostwaldcolours (0) Yj,=100

T40
6=(B6 18,1486,y +26 ) V16l YV19) /2
6—(b6 [be n+be v+ Al) Y18(Y/Y19)
897351 *
1 AL J
> 40
48
126
10
T-40

max (m) chromatic value, CO0
chroma (A*g, B*g)
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